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Q(’l \D/ Solving Sequence
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) 68ﬁ364%10%5»11%1ﬁ7»12%6»05,012
Cg C2 C3 Ce

A knot dlagranﬂ €9 €4 Co €1 C7 Cn
Ideals for irreducible componentfbf Xpar
I = (w*? —u? 4+ —2u+1)

I = (u® 4+ 3u” +u® + 3u® + 2u* —u® 4+ u® — 2u—1)

* 2 irreducible components of dim¢ = 0, with total 31 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI*=(u*?—u?+... —2u+1)

(i) Arc colorings

o ()

= (o)
o= ()
u
a3 = \uyd+u
—u?
a4: u3+u
u ut 41
ub +2u + u?
u? +2u +ub—2ud—u
—u? — 307 —3u5+u
12+3u10+3u — 2l — 4yt —u? 41
— 410 — 608 — 208 + 3ut + 2u?
ap = (u5+u +u>
—u —ut+1
ar = \ —y8 — 28 — 2u*
u 4+ 5012 + 1000 + Tu® —4uS —ub —8ut — 2ud — 2w —u+1
a1o = 21+7U19+"'+U271

—u'® — 4ut3 — 6ult + 8u” + 6u® — 2ud —2u
as = \ 5 + 501 + 106!t 4+ 7u? — 4u” — 8u® — 2ud + u

(ii) Obstruction class = —1

(iii) Cusp Shapes
= —4u?! 4+ 40420 — 24410 + 24018 — 64u'7 4 68u'® — 80u'® 4+ 100wt — 24w’ + 68u'? +
52utt — 16u!Y + 36u° — 52u® — 28u” — 28ub — 32u® + 8u* + 4u3 + 4u? + 4u — 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
“ W22 41302 4 4 2u+ 1

C2,C8 w2 o1

c3,C4,C

3, ¢4, C5 u22_2u21+“._u+2

C7,C9, C10

22 21 2

Ce6, €11, C12 Ut —ut 4 ut+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1 y22_7y21++2y+1
c2, Cs v 13y 2y 1
C3,C4,Cs y22_30y21++19y+4
7, C9, C10
C6, C11, C12 v+ 1Ty 2y 4+ 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + v/=1C)

Cusp shape

u= 0.946141 + 0.0114907

—13.5904 — 5.04251

—10.78024 + 2.846931

= 0.946141 — 0.0114907

—13.5904 + 5.04251

—10.78024 — 2.846931

u= 0.416424 + 0.9937621

0.95586 + 5.592321

—9.07345 — 8.523611

u= 0416424 — 0.9937621

0.95586 — 5.592321

—9.07345 + 8.523611

u = —0.327821 4 1.0353801

—3.20510 — 2.900501

—16.7585 + 6.23601

u = —0.327821 — 1.0353801

—3.20510 + 2.900501

—16.7585 — 6.23601

u=0.153534 + 0.8298831

—0.664834 + 0.9709551

—10.56839 — 6.312451

u= 0.153534 — 0.8298831

—0.664834 — 0.9709551

—10.56839 +- 6.312451

u = —0.373530 + 0.7205871

3.67591 — 1.723671

—3.04572 + 4.677371

u = —0.373530 — 0.7205871

3.67591 + 1.723671

—3.04572 — 4.677371

u = —0.768463 4 0.0663181

—2.56255 + 4.061721

—9.74928 — 3.645541

u = —0.768463 — 0.0663181

—2.56255 — 4.061721

—9.74928 + 3.645541

u = —0.454887 + 1.1794801

—5.83119 — 8.502681

—12.8572 4 7.03001

u = —0.454887 — 1.1794801

—5.83119 + 8.502681

—12.8572 — 7.03001

u= 0425814 + 1.1987301

—9.89307 + 4.302601

—17.3404 — 3.78951

u= 0.425814 — 1.1987301

—9.89307 — 4.302601

—17.3404 4 3.78951

u=0.487685 + 1.2879801

—17.5204 4 10.14571

—13.8263 — 5.68561

u = 0.487685 — 1.2879801

—17.5204 — 10.14571

—13.8263 + 5.68561

u = —0.481775 4 1.2925001

17.8662 — 5.08431

—17.1007 4 2.87641

u = —0.481775 — 1.2925001

17.8662 + 5.08431

—17.1007 — 2.87641

u= 0476877 4 0.2926741

2.80571 — 1.900681

—4.89982 + 3.737491

u= 0476877 — 0.2926741

2.80571 + 1.900681

—4.89982 — 3.737491




II. 1% = (u® 4+ 3u” + u® + 3u® + 2u* —uwd + u? — 2u —1)

(i) Arc colorings
0
ag = U
ag =
ag =
az =
aqg =

—uT =S =2 — 2t — P —ul+u+1
w+2ut — w4+ —u—1

w’ +2ud — 2u
—uS — 2wt — P u+1

(ii) Obstruction class = —1

(iii) Cusp Shapes = —14



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
‘@ u? 4 6u® + 15u7 + 15u’ — 5u® — 24u* — 13u® + Tu? + 6u — 1
€2, 6, C8 uw’ +3u" 4+ ub +3u° +2ut — P+t —2u—1
C11,C12
€3,C4, G5 (u? +u? —2u—1)3
7, C9, C10




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 y? —6y° + -+ 50y — 1
C2, Cg, C8 y9 + 6y8 + 15y7 + 15y6 _ 5y5 _ 24y4 _ 13y3 + 7y2 + 6y -1
C11,C12
GG (P 5yt + 6y — 1)°
€7, €9, C10




(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ vV—1(vol ++/—1CS) Cusp shape
u = —0.948532 —17.6243 —14.0000
u= 0.193528 + 1.0546801 —0.704972 —14.0000
u= 0.193528 — 1.0546801 —0.704972 —14.0000
u= 0.777314 —6.34475 —14.0000
u = —0.388657 + 1.2054701 —6.34475 —14.0000
u = —0.388657 — 1.2054701 —6.34475 —14.0000
u = 0.474266 + 1.2941401 —17.6243 —14.0000
u=0.474266 — 1.2941401 —17.6243 —14.0000
u = —0.387056 —0.704972 —14.0000




ITI. u-Polynomials

Crossings u-Polynomials at each crossing

1 (u® 4 6u® + 15u” + 15u® — 5u® — 24u* — 13u® + Tu? + 6u — 1)
(U 13u 4 2u )

2, C8 (w +3u" + - —2u— D —u? - —2u+1)
C3,C4,Cs ((u3+u2—2u—1)3)(u22—2u21—|—-~-—u+2)
€7, €9, C10
Cg,C11,C12 (U9+3U7+"'*2U*1)(U22*U21+"'+U2+1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing

“ (y? —6y® 4+ +50y — )(y*2 = Ty* + -+ 2y + 1)

(1 + 6y° + 157 + 15¢° — 5y° — 24y — 13> + 7% + 6y — 1)

C2,C8
(P13 4 2y 4 1)
03704705 ((y3 _ 5y2 + 6y _ 1)3)(y22 _ 30y21 + . _|_ 19y + 4)
C7,C9, C10
9 8 7 6 5 4 3 2
C6,C11,C12 (y” +6y° + 15y" + 15y — 5y — 24y~ — 13y” + Ty~ + 6y — 1)

WP ITY 2y 4 1)
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